10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

29

ANLBR-ER

A+LB :mF4E11A168

CHEREEEE) H6: M

I 5% 2 kR U I % & % S 3t EASE | REHRES EAEE

4§§§;§zﬂﬁ1%§ﬂﬁ$ﬁﬁ*?¥i‘§ 6,780,000 5,420,000 5,420,000 FRE—aVHILELY
= an 1= 1= " = olA] R
ABEEIE _ N .
E AN/ BRI TSN R ERES 8870000 ] 7030000 S S
f%iﬁ*{:fé%m R — 3,822,000 2,900,000 - S P
M ). 77w L a =n
BKEH4-85 _ = s
SHET FKEERK R R R E LT 6,100,000 5,400,000 BT REER

¥ 472 _ _
o I A T E TSR BT 1,420,000 850000 - RIEREH BB
E%?iﬁ&% A 1,127,000 675,000 - SABBEREEMZL
A% 2,229,000 2,050,000 - ()2 S Th 58 SR s
SHAEEEHEESEEHA VT — R EEEREA 229, 00, HERB R ER AR
&I B4 162 ~ —
R SR B AT (577 AR R AT — EE B 2,440,000 2,430,000 MBS
g‘ﬁzrgg;m1311%1%1@*5*&32%@@—25@%&ﬁaﬂz{@z% 25,850,000 24,800,000 23,780,000 L EER
E%‘Egi%g%l%)bvfy9‘>7tya—h{b};‘%tﬁ%&{ﬁﬁl% 1,570,000 1,470,000 1,430,000 AV SAITSAY—ER
g%%‘gi%ﬁ-gg T 2,190,000 2,100,000 1,950,000 bl ¥
5&?; i;%;krﬁ‘/?"ﬂyﬁ T® 1,970,000 1,900,000 1,700,000 P NiE
%E%‘I 'E.Il_ — — — S E[E
FERAERRERBIETE AT
g;*iufgrgﬁé%mif*%ﬁg Ab S BRERTE 3,340,000 3,180,000 3,050,000 LA B2 5B ()
g%ﬁﬁfﬁm Rep ARk E T E 10,480,000 9,650,000 9,570,000 AR GE)
FEFE4-35 .
SHEEEIREEE BN HEREETSE 8,060,000 7,500,000 7:380.000 AR
%%Fﬁ%?gﬁﬁﬁ% (Z5)MERIEETSE 8080000 8.020,000 7:390,000 FI R i & AR ()
/.&135%42_1 _‘|=|? — — — =[]
MBS MRy R ETE AT
ﬁgiggg RAERETE 1,750,000 1,750,000 1,560,000 ()N
HAE180-15-15 3,390,000 3,390,000 3,020,000 R & B GE)
EERAEAX 1 EEH S EABBRERMETE R R 220 S R
MR x4 42
IJK!E%%,% % ;K ;ig B T RSANTE 14,200,000 12,830,000 12,830,000 ()T e AR
BB 525 _ _ _ <5
A5 EERIETE AT
HEEL1-145 _ _ _ <5
EER B GAEEETS ARLTER
%%ﬁ%;ﬁ;g;;?ééi EI$ 8,370,000 7,490,000 7,490,000 (ﬁ)ﬁ-&ﬂ{f{@@
3FH R HE480-202-15 _ _ _
EEAORGERKETE AR
458 EIE _ _ _ .
Z@ANRIANKEEETS AT
4B ~ ~ —
28I B I | S EE IR T AL
4 E93E _ _ _
£ A I AR I | S S IR T8 AL
Bt B - - - AHLFH

RTEMER) I ER K EEIBTIE




ANLBR-ER

A+LB :mF4E11A168

CHERIREEE) B

I E F 5 R U I E 25 ¥ 5E (4% i e = 15 1l BR i 4% )
45 EE95E _ _ _ <=
30 |mrsEiE) | BAER K EEIATE ARLFH
3EKE3-103-4288
31 31| B2 Hh oK R SS =18 | T3 (& ) 1,630,000 1,550,000 1,450,000 A&t
3EKFE5-4285 )
32 K| 2K ERETS 1,570,000 1,530,000 1,390,000 (H\)IMAT




RS (55 8 ZRFEMR)

A FL a0 Pk
. AN # H % B 4 B o4 AN KL
2. x 0B K 5 4R HE 35
3. £ bEs 4 eE A Nt R SR T ]
4, A L # H H SR AFE11LH 168

Wkl ZFE = Ak
5. ST £ =
TJE A B R ok TEH Rl

6. & K il FR O A% 5,420, 000
7. Y O M K 6, 780, 000 4,
8. WHHEROVCAEHE | WE -avrLzrY 5,420,000 [t
9. fi =z

A FL & %A * HA7 ;Y
JIE | 2 = 4 H10E H2lE] $3[E] (A
1 | —a sz 5,420,000 P AL
o |(E)=virv dkar s 5,720,000
3 | FHBRZE = P2 REE) 6,100,000
4 |(BR) B[] 6,300,000
5 |(BR)A A 71 4 6,350,000
6 |(BRPEFI= Y2k 6,440,000
VL =0y g 6,500,000
8 |(BRFRF T 2R 6,600,000
9 | BR)E Il fR i k=2 AL 2 b 6,700,000
10 |(BRFH 8,000,000

G Q= I = W 23R

. 1 O%ITHRY T 2B A INE L 7o 0N EME Lo AU Tod 5,




RS (55 8 ZRFEMR)

A FL B Pk
. AN # H % B 4 B o4 AN KL
2. x 0B K 5 4JEFE 2
3. ¥ bEs 4 MR NEE )1 e T it Rt
4, A L # H H SR AFE11LH 168

Wkl ZFE = Sk
5. ST £ =
TJE A B R ok TEH R

6. & K )[Rl K —
7. Y O M K 8, 870, 000 4k,
3. KALE K O 4L E)=vwrrt+ARkarHirxr k 7,030, 000 FJ4h
9. fi =z

A FL & %A * HA7 ;Y
JIE | 2 = 4 H10E H2lE] $3[E] (A
o | E T =z k 7,900,000
3 (R —a sy 8,240,000
4 |BRTHBAZ =YL RER) 8,250,000
5 |(BR) WA 8,300,000
6 |(BR)& 771 4t 8,400,000
7 (BRI L H R 8,540,000
8 |(BRU YAk ks 8,650,000
9 |WRE WA Rk F = b 8,800,000
10 |(BRFH 16,600,000

(7 9)=5 0 @1 2= R R

5 H%eRC,

1 0 %A 28 A INE L 7o @EPNEME Lo AU Tod 5,




RS (55 8 ZRFEMR)

A FL a0 Pk
. AN # H % B 4 B o4 AN KL
9. x 0B K 5 MHERAM 2 =
3. E'S % 4 RN 4 AR BT ON B R A IR R S
4, A L # H H SR AFE11LH 168
AVE FuEz FAA R
5. ST £ Ea
T/E HEA B R ok TEH Rl
6. & K )[Rl K —
7. Y O M K 3, 822, 000 [
8. WAL & K O 4 %A (BR) 78 B AR 5 A ZE pr 2,900, 000 FI4t,
9. fi =z
JIE | 2 = 4 H10E H2lE] $3[E] (A
1 (BT B AR = H A 5T AT 2,900,000 P AL
2 (CRNAY: i =N I =S i g A 3,800,000
3 |(BRFE 3,960,000
4 (BRE—a Pz 7,700,000
5 |BRTANAABABIE mxiSE 8,900,000
(BR) X223 @k R
(ISP DENENIZ N R
(BR) & 77 7111 TR
(el ==k S iR

. 1 O%ITHRY T 2B A INE L 7o 0N EME Lo AU Tod 5,




RS (55 8 ZRFEMR)

Al

AL

L. A KF | B 4 B4 AN fL
2. x 0B K 5 BEOKEFA-8 5
3. £ bEs 4 BT _EAGEBC KR BEA R e B R RS
4, A L # H H SR AFE11LH 168
Wkl ZFE =% Bk
5. ST £ =
TJE A B R ok EH 2R

6. & K dlOFR Ol A% —
7. Y O M K 6, 100, 000 [+,
8. % AL FH K N & A T E (FR) 5, 400, 000 [,
9. fi =z

A L & #H * BAT -
JIE | 3¢ = 4 AN 2 #30H] A
1 | & LEREHER) 5,400,000 P AL
2 MO a2t EEST 5,470,000
3 | R&T 7. (BK) 5,600,000
4 MOFRAER Y AZ s maEE 5,670,000
5 ((BHILE &ak)s 5,800,000
5 |BRO=AN ALK wn S 5,800,000
7 |(BR) XA mEn s 6,000,000
7 | BAK TE%F R & =5 At 6,000,000

(el ==k S R
(BR)FH 2 FEIR

5 UEZAeREIC. 1 0 %N T D442 INE L= ERE Lo AL Th 5,




RS (55 8 ZRFEMR)

Al

AL

L. A KF | B 4 B4 AN fL
2. x 0B K 5 M7 H (Y 55 4-7 5
3. £ % 4 B4 FRENER 2 )INESFTHE TR Rt ¥R
4, A L # H H SR AFE11LH 168
BHA U G R
5. ST £ =
+E HEA B TEH Rl

6. & K W OFR Ol A% —
7. Y O M K 1, 420, 000 [+,
8. % AL FH K N & A (B) 78 2% FH 5T 850, 000 [,
9. fi =z

A L & #H * BAT :
JIE | 2 = 4 H10E H2lE] $3[E] (A
1 |CE)VE R EH AT 850,000 AL
2 |Atelier tomato 900,000
3 |(BR) 7T A15%EH= 980,000
4 |(B) R EHT 1,050,000
5 |WIDEZ%E 1,200,000
5 |V~ ENRER G FHT 1,200,000
7 |(BR)ZA N HEX E 1,280,000
8 | 4k [ I LR B S T 1,350,000
9 |Hatag® i+ AT 1,400,000

7T 2 R AT FEIR

. 1 O%ITHRY T 2B A INE L 7o 0N EME Lo AU Tod 5,




RS (55 8 ZRFEMR)

N -
. ANt F ¥ B & B 4 AN FL
2. ¥y T = THBhHE4-21 5
3 Wy A v HIET A E DEEA
4, A L # H H SR AFE11LH 168

A 5 A A
5 ST £ =
TJE A B R ok W AR
6. & K )[Rl K —
7. Y O M K 1,127,000 [H4h
8. % AL FH K N & A KR PR B CBR) v Jan S 675, 000 [,
9 i =z
/\ H

A AL 0 #H < BT [
JIE | 2 = 4 H10E H2lE] $3[E] (A
1 |BEA B R PR CRR) i 20 3 AL 675,000 AL
2 KRy — Ay 697,500
3 |(BR)A 72l 733,540
4 |(BR) =1 768,000
5 |(BRMR PSS 780,000
6 |(FK)4H 1,073,100

(BRRR FEIR

. 1 O%ITHRY T 2B A INE L 7o 0N EME Lo AU Tod 5,




RS (55 8 ZRFEMR)

A FL B Pk
1 D N R S B 4 B 4 A #L
2 /TR = HHhSE2 =
3. ) fh 4 RN 4 A E BT YE B B A N 7 U — R R BRAR A
4, A L # H H SR AFE11LH 168

BHA U L HE
5. ST £ =
TJE A B R ok TEH Rl

6. & K )[Rl K —
7. Y O M K 2,229,000 [
8. B N VN O | () 35 B 5% i 2,050, 000 ML
9. fi =z

A kL & %A * HA7 ;Y
JIE | 2 = 4 H10E H2lE] $3[E] (A
IRICEPE =N 2,050,000 P AL
2 | (KRR S 2,100,000
3 |(BR)7maAD 2,140,000
4 | FEEBG Y AT A(BK) 2,223,000
5 |V RTBIRE) 2,250,000
6 |(BR)FAIEE St —E X 2,300,000

. 1 O%ITHRY T 2B A INE L 7o 0N EME Lo AU Tod 5,




LSS (F

8 ZBf%)

A L B #®
1 D N R S B 4 B 4 A #L
2 /TR = L H4-16 5
3 W) i 4 ST, S A S (54T « AT MK R e &7 7 — T 2R 48)
4, A L # H H SR AFE11LH 168

A 5 A A
5 ST £ =
TJE A B W AR
6. & K )[Rl K —
7 Y O M K 2,440, 000 [
8. B N VN O | (KR) 1R 15 2,430, 000 P
9 i =z
/\ H

A FL & %A * HA7 ;Y
JIE | 2 = 4 H10E H2lE] $3[E] A
1 |RREE; 2,430,000 AL
2 |(BR)FATEL S —E R 2,450,000
2 |(BR)7aAD 2,450,000
4 | (A5 B SRR M 2,460,000
5 | = ENEEG T AT A1) 2,575,000

URENA PN FEIE,

% YUEAFEIZ. 1 0 %Y T 282 INE LN ERE Eo ALtk TH 5,




RS (55 8 ZRFEMR)

A FL B Pk
. AN # H % B 4 B o4 AN KL
2. r = % = HEF4-67
3. T = 4, 40 A 4E FE EIRT E RS AL R v 7 — e R e s T
4, A L # H H SR AFE11LH 168
BHA U VEHE EHR
5. ST £ =
TJE A B R ok TEH Rl
6. & K il FR O A% 23, 780, 000 b
7. Y O M K 25, 850, 000 P4k,
8. % AL FH K N & A (BF) LB aax 24, 800, 000 4,
9. fi =z
/\ H
A FL & %A * HA7 ;Y
JIE | 2 = 4 H10E H2lE] $3[E] (A
1 |0BR) LJEaERx 24,800,000 P AL
2 | CRR) A R 445 AR 27,372,000
3 | (R FAFR 27,500,000
4 |ATHEL 27,781,900
5 | HLIAEERR (BR) 27,900,000
6 |5 AKE LKL 28,300,000
() Va e et 3R
(B)5LR % Y
B R FEIR
IOy A TATIA P —E R !
N ] R
CEIPNEET R
(BB T3¢ R

. 1 O%ITHRY T 2B A INE L 7o 0N EME Lo AU Tod 5,




RS (55 8 ZRFEMR)

= 10
A AL = Fk
. AN # H % B 4 B o4 AN KL
2. T F % &= BrEa-175
3 T = v BRAFEERT— NV T v F o T ¥ — b A VR T
4, A L # H H SR AFE11LH 168
@ Fnn
5 ST £ =
TJE A B R ok W AR
6. & K il FR O A% 1,430,000 Fth
7. Y O M K 1,570,000 b
8. wAL H KON 4 s rav A G A T4 —E R 1,470,000 [I4h,
9. fi =z
A L & #H * BAT -
JIE | 2 = 4 H10E H2lE] $3[E] (A
1 7Ry ATAT TP —EA 1,470,000 P AL
HAKIE TS 1,340,000 IHE
PR 1,400,000 IHE
FiT T 1,410,000 IHE
5 | K PEE%H 1,600,000
6 | (R AHFR 1,660,000
AT (FF) FEIR
(BR) - JE e FEIR
() VP e dek !
(B)5La % EEEY
CEIPNEET] R
(B FA L EAER (i FEIR
(BB T3¢ FEIR

. 1 O%ITHRY T 2B A INE L 7o 0N EME Lo AU Tod 5,




RS (55 8 ZRFEMR)

= 11

A AL = Fk
. ANt F ¥ B & B 4 AN FL
2. r = ®r = HBL A2
3. T =® 4 ST VY KRR R L
4, A L # H H SR AFE11LH 168

BHA U TIN5 =
5. ST = =4
TJE A B R ok W AR
6. & K il FR O A% 1,950, 000 Fth
7. Y O M K 2,190, 000 [
8. % AL FH K N & A AR 2,100, 000 [,
9. fi =z
/\ H

A FL & %A * HA7 ;Y
JIE | 2 = 4 H10E H2lE] $3[E] (A
1| P ER 2,100,000 P AL
o |HAKE KIS 2,150,000
3 |AIHE L 2,166,220
YN 2,200,000
5 |(BR)FAHFR 2,300,000

IOy A TATIA A —E R 3R

ML, 1 0 %Y T 5B A N LI AN L L ALK T 5,




RS (55 8 ZRFEMR)

= 12

A AL V-
1. D N R S B 4 B 4 A #L
2. Tr = % = BKFA-47
3. T =® 4 HFEUK HBUK AR o 7B T
4, A L # H H SR AFE11LH 168

Wkl ZFE =% Bk
5 ST £ =
TJE A B R ok EH 2R

6. & K il FR O A% 1,700,000 Fth
7. Y O M K 1,970, 000 b
8. % AL FH K N & A K PE %1 1,900, 000 [+
9. fi =z

A L & #H * BAT -
JIE | 2 = 4 H10E H2lE] $3[E] (A
RPN 1,900,000 P AL
2 | (R FAFR 1,940,000
3 [ EEPERR 2,000,000
4 |ATHEL 2,028,000
5 | HAKE THIL 2,040,000

IOV A TATTA PR RSl

. 1 O%ITHRY T 2B A INE L 7o 0N EME Lo AU Tod 5,




RS (55 8 ZRFEMR)

= 14
A AL = Fk
. ANt F ¥ B & B 4 AN FL
2. r F % = MHERAEE 3 &
3. T ® 4 SN A4 FEE BT SRS X — BRI ERE T F
4, A L # H H SR AFE11LH 168
AVE FuEz AA Jh—
5. ST = =4
TJE A B R ok TEH Rl
6. & K il FR O A% 3, 050, 000
7. Y O M K 3, 340, 000 [
8. % AL FH K N & A (LA (BR) 3, 180, 000 [,
9. fi =z
A L & #H * BAT -
JIE | 2 = 4 H10E H2lE] $3[E] (A
1| HIAREERERR) 3,180,000 P AL
o | 3,220,000
3 (R KRETHIE 3,380,000
4 |(BRILH 85 3,500,000
5 | PR AR A R (BR) 3,770,000
6 |(B)# M THIL 5,280,000
(BR) 1 JE e FEIR
FH 0 L 5T R
(R e R
AR EERESE R

. 1 O%ITHRY T 2B A INE L 7o 0N EME Lo AU Tod 5,




RS (55 8 ZRFEMR)

= 15
A AL = Fk
. ANt F ¥ B & B 4 AN FL
2. r = % = HE54-87
3 T =® 4 SR T T T ECAE AR e T
4, A L # H H SR AFE11LH 168
BHA U NS
5 ST £ =
TJE A B R ok TEH Rl
6. & K il FR O A% 9,570, 000 M4
7. Y O M K 10, 480, 000 [+
8. % AL FH K N & A (LA (BR) 9, 650, 000 I+
9. fi =z
JIE | 2 = 4 H10E H2lE] $3[E] (A
1| HIAREERERR) 9,650,000 P AL
2 (BRI H 85 10,000,000
Vo R fE O s () 8,600,000 IHE
(BR) - % FEIR
FH ) ik BB
(BR) A e 2 IR
o R
(BR) K& THIE R
B REEESE R
(B m TH%IE R

. 1 O%ITHRY T 2B A INE L 7o 0N EME Lo AU Tod 5,




RS (55 8 ZRFEMR)

= 16
A AL = Fk
. ANt F ¥ B & B 4 AN FL
2. Tr = % = R EA-35
3. T =® 4 BT E R EEE (B 1) MEdEsE T
4, A L # H H SR AFE11LH 168
Fgu Hh HE OB
5. ST £ =
TJE A B R ok TEH Rl
6. & K il FR O A% 7,380, 000
7. Y O M K 8, 060, 000 4k,
8. % AL FH K N & A FH ) A 7,500, 000 [,
9. fi =z
JIE | 2 = 4 H10E H2lE] $3[E] (A
1| 7,500,000 P AL
2 |(BR) IR ER 7,550,000
3 | PEFERR A R (R 11,520,000
AR R (BR) FEIR
(R e R
o IR
(BR) K& THIE FEIR
B AREEESE R
(BR)SL B TG FEIR
(B m TH%IE R

. 1 O%ITHRY T 2B A INE L 7o 0N EME Lo AU Tod 5,




RS (55 8 ZRFEMR)

= 17
A AL = Fk
. ANt F ¥ B & B 4 AN FL
2. Tr = % = 445
3 T ® 4 T EFEEEFEE (E5) MEESE TLEH
4, A L # H H SR AFE11LH 168
g =E B
5 ST £ =
TJE A B R ok TEH Rl
6. & K il FR O A% 7,390, 000
7. Y O M K 8, 080, 000 4k,
8. B N VN O | PE R R B R (BR) 8, 020, 000 b,
9. fi =z
JIE | 2 = 4 H10E H2lE] $3[E] (A
1 |VErERE A R (BR) 8,020,000 P AL
FH A ST 6,980,000 IHE
3 | 8,180,000
AR R (BR) FEIR
(BR) - % FEIR
(BR) A e 2 IR
(BR) K& THIE FEIR
BRRAEEPESE R
(BR)SL B TG FEIR
(B m TH%IE R

. 1 O%ITHRY T 2B A INE L 7o 0N EME Lo AU Tod 5,




RS (55 8 ZRFEMR)

= 19
A L AL ik
. AN # H % B 4 B o4 AN KL
2. r = % = L4205
3 T = 4 K5 sl B B S Bk 1 T 5
4, A L # H H SR AFE11LH 168
A 5 A A
5 ST £ =
TJE A B R ok TEH Rl
6. & K il FR O A% 1,560, 000 Fh,
7. Y O M K 1, 750, 000 [+
8. % AL FH K N & A () Jtkoex 1, 750, 000 [+
9. fi =z
JIE | 2 = 4 H10E H2lE] $3[E] (A
1 |CB)eRGex 1,750,000 P AL
2 (B iR 22— 1,760,000
Vo R fE O s () FEIR
(BR) AL = 2% R
(B)AE H ek R
()& A% TR
PR BR) 1)
(BN 12 3R
(B)iEm THIE R

. 1 O%ITHRY T 2B A INE L 7o 0N EME Lo AU Tod 5,




RS (55 8 ZRFEMR)

= 20
A AL = Fk
. ANt F ¥ B & B 4 AN FL
2. Tr = % = R 180-15-15
3. T =® 4 HER AR A 1 S S g R HR AR & 15
4, A L # H H SR AFE11LH 168
EA 3k WA =2
5. ST £ =
TJE A B R ok TEH Rl
6. & K il FR O A% 3,020, 000
7. Y O M K 3,390, 000 [
8. B N VN O | PE R R B R (BR) 3,390, 000
9. fi =z
JIE | 2 = 4 H10E H2lE] $3[E] (A
1 |VErERE A R (BR) 3,390,000 P AL
()R e% 3,010,000 IHE
) F g 2 — 3,010,000 IHE
(R L =7 5% FEIR
(FAG M ek TER
()& AR FEIR
TP H AR R (R FEIR
(CEPUNY /N < R
(B)iEm THIE FEIR
% YUEAFEIZ. 1 0 %Y T 282 INE LN ERE Eo ALtk TH 5,




RS (55 8 ZRFEMR)

= 21
A L iC ik

1. A K F B 4 B 4 A #L
2. Tr = % = WREFE 1-1 5
3 T == £ ANBp K EFRME A h vy Vw32 A N L
4, A L # H H SR AE11H16H

AV FiE [T
5 ST £ Ea

T HEA B R Fod B R

6. o KPR Al B

12, 830, 000 M

7. Y E M &

14, 200, 000 [+

8. AL A K O &

,\
1>

() THERHe

s

12, 830, 000 [+

9. i =
g | 2 # % NG B 20m] ¢ RG] (i
1| CA)Pa e 12,830,000 HALIKT]
1 | L ETHERR 12,830,000

VU A o R (B REIR

(R = A% Rk

(f3)f kg Rk

LA TR (BK) Frak

() 1 = A TR

T H- (R EER

(Bt EEiR

(B IR 2 — !

. 1 O%ITHRY T 2B A INE L 7o 0N EME Lo AU Tod 5,




RS (55 8 ZRFEMR)

= 24
A AL = Fk
. AN # H % B 4 B o4 AN KL
2. r = % = AR5 22 55180-209-1 5
3 T ® 4 EG 5 EihE K R TH
4, A L # H H SR AFE11LH 168
FHHEAR FA = Sk
5 ST £ =
TJE A B R ok TEH Rl
6. & K il FR O A% 7,490, 000
7. Y O M K 8, 370, 000 4k,
8. % AL FH K N & A () VasRka 7,490, 000 [
9. fi =z
JIE | 2 = 4 H10E H2lE] $3[E] (A
1 |CB)VE ke 7,490,000 P AL
o |CH)SLRE R 8,270,000
()R e% TR
()5 A% R
(B)H: /g Bt 2 — !
TP H AR R () FEIR
CEPUN < 3R
(BR) - JE e R
UE T 2EER) FEIR

. 1 O%ITHRY T 2B A INE L 7o 0N EME Lo AU Tod 5,




RS (55 8 ZRFEMR)

7 =R > o1

. AN # H % B 4 B o4 AN KL
2. Tr = % = SEKE3-103-428%
3 T = 4 RIFNNEHKEE R EEZIB TS (B0
4, A L # H H SR AFE11LH 168
PR [FER IR IN
5 ST £ =
TJE A B R ok TEH Rl

6. & K il FR O A% 1, 450, 000 F4h,
7. Y O M K 1,630,000 b
8. % AL FH K N & A () /s T 1, 550, 000 [k,
9. fi =z
JIE | 2 = 4 H10E H2lE] $3[E] (A
1 |CE)/ M7 1,550,000 P AL
2 (BN H R 1,600,000

Vo R fE O s () TR

(BR) AL = 2% FEIR

() ARk e% R

()& A% TR

(B RG22 — !

R ER BR) )

(B | %5 R

. 1 O%ITHRY T 2B A INE L 7o 0N EME Lo AU Tod 5,




RS (55 8 ZRFEMR)

= 32
A L AL ik
. ANt F ¥ B & B 4 AN FL
2. Tr = % = SHERES -428%
3 T = 4 RIS =T IR T
4, A L # H H SR AFE11LH 168
PR [FER IR IN
5 ST £ =
TJE A B TEH Rl
6. & K il FR O A% 1, 390, 000 Fth
7. Y O M K 1,570,000 b
8. % AL FH K N & A () /s T 1,530,000 [k,
9. fi =z
JIE | 2 = 4 H10E H2lE] $3[E] (A
1 |CE)/ M7 1,530,000 P AL
2 (BN H R 1,580,000
Vo R fE O s () FEIR
(BR) AL = 2% TR
() ARk e% R
()& A% TR
(B IREREE 2 & — TR
R ER BR) R
(B)iEm THIE TER

. 1 O%ITHRY T 2B A INE L 7o 0N EME Lo AU Tod 5,




